M KONTROLA 20.10.
15/8 a), b)
	
	 na D
	 na S

	400 + 109 = 509
	510
	500

	700 + 223 = 923
	920
	900

	300 + 545 = 845
	850
	800


	248 + 607 = 855
	860
	900

	503 + 304 = 807
	810
	800

	409 – 107 = 302
	300
	300

	267 – 59 = 208
	210
	200

	545 – 23 = 522
	520
	500

	908 – 305 = 603
	600
	600

	560 – 206 = 354
	350
	400

	231 – 14 = 217
	220
	200

	156 + 28 = 184
	180
	200

	54  + 39  = 93
	90
	100

	308 + 150 = 458
	460
	500




16/11  a)   
40 : 4 = 10
30 : 5 = 6
47 : 9 = 5 (zb. 2)
52 : 7 = 7 (zb. 3)
24 : 4 = 6
64 : 8 = 8
56 : 6 = 9 (zb. 2)
20 : 3 = 6 (zb. 2)
16 : 5 = 3 (zb. 1)
74 : 9 = 8 (zb. 2)
28 : 3 = 9 (zb. 1)
[bookmark: _GoBack]
